YORKSHIRE SECOND ELEVEN IN THE MINOR COUNTIES CHAMPIONSHIP **SEASON 1964**

FINAL TABLE

	Team	Р	W	L	DWF	DLF	NC/Ab	Pts	PtPC
	Points awarded	-	10	-	3	1	-	-	-
1	Lancashire 2nd XI	14	8	1*	1	4	0	90	6.42
2	Wiltshire	10	5	2*	2	1	0	60	6.00
3	Cambridgeshire	10	5	2	1	1	1	56	5.60
4	Nottinghamshire 2nd XI	8	4	3	1	0	0	43	5.37
5	Yorkshire 2nd XI	12	5	1	4	2	0	64	5.33
6	Warwickshire 2nd XI	10	4	2*	1	3	0	49	4.90
7	Buckinghamshire	10	3	2‡	2	3	0	45	4.50
8	Berkshire	10	2	2‡	6	0	0	44	4.40
9	Norfolk	12	4	4*	2	1	1	52	4.33
10	Durham	12	3	1*	5	2	1	52	4.33
11	Devon	10	3	1	3	2	1	43	4.30
12	Somerset 2nd XI	8	3	2	0	2	1	34	4.25
13	Cheshire	10	3	3	3	0	1	41	4.10
14	Cornwall	8	3	4	0	1	0	31	3.87
15	Lincolnshire	12	3	5‡	3	1	0	46	3.83
16	Oxfordshire	10	2	3	2	3	0	29	2.90
17	Staffordshire	12	2	4	4	2	0	24	2.83
18	Bedfordshire	10	1	1*	3	5	0	27	2.70
19	Hertfordshire	10	1	2*	3	4	0	26	2.60
20	Suffolk	8	1	4*	1	2	0	18	2.25
21	Dorset	10	1	4*	1	4	0	20	2.00
22	Shropshire	10	1	6*	2	1	0	20	2.00
23	Cumberland	8	1	6	0	0	1	12	1.50
24	Northumberland	10	0	3*	0	6	1	11	1.10

DWF – Drawn match but ahead on first innings

DLF - Drawn match but behind on first innings

PtsPC - Percentage points per match

* First inns pts (3) in one match lost

‡ First inns pts (3) in two matches lost

Player	Μ	Ι	NO	TR	HS	Ave	100	50	Ct/St
B Leadbeater	7	11	2	326	81	36.22	-	2	5
B Wood	6	9	2	235	59	33.57	-	1	3
J C Balderstone	4	6	0	200	109	33.33	1	-	-
W B Roberts	8	14	1	339	100	26.07	1	1	5
P M Stringer	8	11	2	218	45	24.22	-	-	3
A Clarkson	10	15	1	297	71	21.21	-	2	9
D L Ash	9	14	2	223	42	18.58	-	-	5
J W Crowhurst	6	10	0	180	66	18.00	-	2	2
G R Bloom	6	11	0	197	75	17.90	-	1	2
R L Feather	9	13	3	169	33	16.90	-	-	5
B Lymbery	2	4	1	46	25	15.33	-	-	2
C C Clifford	5	7	0	99	40	14.14	-	-	2
G Hodgson	12	16	6	141	29	14.10	-	-	20/3
M C Fearnley	10	11	3	99	28*	12.37	-	-	2
R W Wall	5	7	0	71	36	10.14	-	-	1
J S Waring	8	8	3	39	15	7.80	-	-	3
J L Hutton	2	3	1	9	7	4.50	-	-	1
K Jackson	2	3	2	0	0*	-	-	-	-

FINAL AVERAGES - BATTING AND FIELDING

ALSO BATTED

Player	Μ	Ι	NO	TR	HS	Ave	100	50	Ct/St
G Boycott	1	1	0	161	161	161.00	1	-	-
C M Old	1	2	1	34	26	34.00	-	-	-
J H Hampshire	1	2	1	17	14*	17.00	-	-	1
J A Lumb	1	2	0	6	6	3.00	-	-	-
K Taylor	1	2	0	5	3	2.50	-	-	-
D Middlewood	4	1	1	14	14*	-	-	-	-
A G Nicholson	1	1	1	0	0*	-	-	-	-
M T Dunn	1	1	0	0	0	-	-	-	1
P R Illingworth	1	_	-	-	-	-	-	-	1
A J F Temple	1	_	-	_	_	-	-	-	-

Player	0	Μ	R	W	BB	Ave	5wI	10wM
M C Fearnley	294.2	101	690	49	6/16	14.08	3	1
D Middlewood	98.1	33	232	16	5/28	14.50	1	-
D L Ash	107.1	48	256	17	4/26	15.05	-	-
J C Balderstone	57	26	127	8	3/20	15.87	-	-
P R Illingworth	13	3	48	3	2/18	16.00	-	-
J S Waring	226	66	604	36	5/48	16.77	1	-
A Clarkson	55	20	137	8	4/25	17.12	-	-
K Jackson	25	7	73	4	3/10	18.25	-	-
P M Stringer	137	49	314	16	3/16	19.62	-	-
A G Nicholson	28	11	63	3	3/57	21.00	-	-
C C Clifford	70	22	191	9	4/42	21.22	-	-

FINAL AVERAGES – BOWLING

ALSO BOWLED

Player	0	Μ	R	W	BB	Ave	5wI	10wM
J W Crowhurst	9.1	5	14	2	1/4	7.00	-	-
K Taylor	16	2	44	2	2/22	22.00	-	-
J L Hutton	15	3	53	2	1/14	26.50	-	-
A J F Temple	15	3	62	2	2/62	31.00	-	-
B Wood	28	7	96	1	1/32	96.00	-	-
M T Dunn	11	5	23	0	-	-	-	-
R W Wall	3	0	14	0	-	-	-	-
W B Roberts	2	1	6	0	-	-	-	-
C M Old	1	0	1	0	-	-	-	-

LINE SCORES OF MATCHES PLAYED

v Lancashire (Harrogate CC) 18 & 19 May 1964 - *Yorks 284/6d (W B Roberts 100,1 G R Bloom 75) & 86/5d (P Lever 3/35) drew with Lancs 188/8d (M C Fearnley 3/61) & 159/6 (K L Snellgrove 67; M C Fearnley 3/66)

v Cumberland (Tynefield Park, Penrith) 27 & 28 May 1964 - *Yorks 171 (P N Broughton 5/52) & 137 (B Wood 59; P N Broughton 4/41, K McCourt 3/20, A Robinson 3/40) beat Cumberland 67 (M C Fearnley 4/16, J S Waring 3/10) & 117 (M C Fearnley 3/10, K Jackson 3/10) by 124 runs

v Northumberland (Bradford PA) 3 & 4 June 1964 – (Toss unknown) Yorks 163 (K Norton 4/47, K J Earl 3/29) & 26/0 drew with Northumberland 123 (C J Balderstone 3/20, J S Waring 3/28)

v Cumberland (Headingley) 10 & 11 June 1964 - *Yorks 175/8d (N R Williams 3/47) beat Cumberland 74 (M C Fearnley 4/37, P M Stringer 3/6, D Middlewood 3/29) & 63 (M C Fearnley 5/11) by an inns & 38 runs

v Lincolnshire (The Circle, Hull) 24 & 25 June 1964 – (Toss unknown) Yorks 346/5d (G Boycott 161, J C Balderstone 109; I S Madray 3/20) beat Lincs 66 (D Middlewood 5/28, J S Waring 4/19) & 234 (J Lawrence 70; A Clarkson 4/25) by an inns & 46 runs

v Northumberland (Jesmond) 8 & 9 July 1964 - *Northumberland 221/7d (R W Smithson 54, R Jowsey 50; J S Waring 3/91) & 184/4d (R Jowsey 58) drew with Yorks 222/7d (A Clarkson 66, W B Roberts 55; A Brown 3/53) & 48/1

v Durham (South Shields) 22 & 23 July 1964 – Yorks 127 (J M Watson 4/41, J G Williamson 3/12, K D Biddulph 3/38) & 184 (J M Watson 6/43 [and match figs of 10/84]) drew with *Durham 131/9d (J R A Townsend 58; C C Clifford 4/42, J S Waring 3/42) & 120/7 (J S Waring 4/32)

v Cheshire (Victoria Rd, Macclesfield) 29 & 30 July 1964 – (Toss unknown) Cheshire 94 (J S Waring 5/48, M C Fearnley 4/24) & 105 (M C Fearnley 6/16 [and amtch figs of 10/40]) lost to Yorks 167 (J W Crowhurst 66; S Davies 7/55) & 33/2 by eight wkts

v Lancashire (Old Trafford) 3 & 4 Aug 1964 – Lancs 158 (M C Fearnley 4/47, J S Waring 3/36) & 214/8d (G K Knox 70, H Pilling 57; D L Ash 4/26, J S Waring 3/92) beat *Yorks 140 (A M Beddow 3/21, P Lever 3/45) & 90 (K Shuttleworth 8/65 [and match figs of 10/101]) by 142 runs

v Lincolnshire (Augusta St, Grimsby) 12 & 13 Aug 1964 – (Toss unknown) Yorks 212 (B Leadbeater 81; N M McVicker 4/71, E R Shenton 3/35) & 120/5 (B Leadbeater 56*; N M McVicker 3/30) drew with Lincs 304/9d (I S Madray 110, M Maslin 85; D L Ash 3/53, P M Stringer 3/72)

v Cheshire (Scarborough) 19 & 20 Aug 1964 – (Toss unknown) Cheshire 208/6d (D F Cox 112, P A C Kelly 50*; P M Stringer 3/60) lost to Yorks 212/7 (N R Halsall 3/33, R J Digman 3/51) by three wkts (as there was no play on the first day, a single-innings match was arranged)

v Durham (Duke's Park, Bridlington) 24 & 25 Aug 1964 – Durham 197 (J G Williamson 53; M C Fearnley 5/69, A G Nicholson 3/57) & 155/7d (D L Ash 3/55) drew with *Yorks 198/7d (J W Crowhurst 50; J M Watson 3/58, C W Leach 3/63) & 154/9 (A Clarkson 71; J M Watson 5/50) (*Match drawn with scores level*)

CAREER FIGURES AND BIOGRAPHICAL DETAILS (WHERE KNOWN) OF PLAYERS WHO MADE THEIR DEBUTS IN 1964

502) Michael Thomas ("Micky") DUNN - 14 Nov 1940, Doncaster

He was a RH batsman and RA fast-medium bowler

List A debut – v Surrey, The Oval, 15 May 1971, playing for Herts (Gillette Cup) Yorks career – 1964

His highest List A Score (41) was made against Worcs at New Rd on 22 May 1976 (Benson & Hedges Cup) His best List A Bowling figures (3/27) were recorded in the match against Berks at Lucas Lane, Hitchin, on 26 June 1976 (Gillette Cup) His career-best score (62) came in the Minor Counties Championship game against Norfolk at Watford on 20 & 21 June 1976 (for Herts) His career-best bowling figures (6/34) came in the Minor Counties Championship game against Norfolk at Lakenham on 4 & 5 Aug 1969 (for Herts)

List A Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
16	16	3	187	41	14.38	-	-	3
2nd XI Championship (For Warwicks)	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
7	7	4	66	23*	22.00	-	-	2
2nd XI Minor Counties Matches (For Yorks & Herts)	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
45	55	17	642	62	16.89	-	2	23

CAREER STATISTICS - BATTING & FIELDING

BOWLING

List A Matches	Overs	Maidens	Runs	Wickets	Average	Best	4wI	5wI
						Figures		
	155	21	564	12	47.00	3/27	-	-
2nd XI	Overs	Maidens	Runs	Wickets	Average	Best	5wI	10wM
Championship					_	Figures		
	112.4	17	326	16	20.37	5/50	1	-
2nd XI Minor	Overs	Maidens	Runs	Wickets	Average	Best	5wI	10wM
Counties					0	Figures		
Matches	871.4	246	2025	99	20.45	6/34	4	-

He was awarded his Hertfordshire cap in 1971.

503) John Leonard HUTTON - Born 6 May 1946, Pudsey, W Yorks

He was a LH batsman and RA medium-pace bowler.

First-class debut – 1974 v East Africa for the MCC at the Gymkhana Gd, Nairobi, Kenya on 18-20 Jan 1974 (Tour Match) Yorks career - 1964

1st Class Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
1	2	0	51	39	25.50	-	-	-
2nd XI Minor Counties Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
2	3	1	9	7	4.50	-	-	1

CAREER STATISTICS - BATTING & FIELDING

BOWLING

1st Class Matches	Overs	Maidens	Runs	Wickets	Average	Best Figures	5wI	10wM
	21	4	47	2	23.50	1/15	-	
2nd XI Minor	Overs	Maidens	Runs	Wickets	Average	Best	5wI	10wM
2nd XI Minor Counties	Overs	Maidens	Runs	Wickets	Average	Best Figures	5wI	10wM

Son of Sir Len and brother of Richard, he bore a famous cricketing surname. He was educated at Repton School and captained their XI in 1964.

504) Keith JACKSON – No biographical details are available for this player. He also played for Notts & Leics in second eleven cricket. His time with Yorkshire was from 1964 to 1966.

His career-best score (65*) came in the game against Northants at the British Timken Gd, Duston on 24 & 25 July 1968, playing for Leics (Second Eleven Championship) His career-best bowling figures (5/38) came in the game against Warwicks at Retford on 18 & 19 May 1970, playing for Notts (Second Eleven Championship)

CAREER STATISTICS - BATTING & FIELDING

2nd XI Championship	Inns	Not	Total	Highest	Average	100s	50s	Ct/St
(For Notts & Leics)		Outs	Runs	Score				
21	36	7	379	65*	13.06	-	2	1
2nd XI Minor Counties Matches (For Yorks & Notts)	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
6	5	4	39	27*	39.00	-	-	3

BOWLING

2nd XI Championship	Overs	Maidens	Runs	Wickets	Average	Best Figures	5wI	10wM
	347.1	93	981	35	28.02	5/38	2	-
2nd XI Minor	Overs	Maidana	D	XX7° 1 4				40.35
ZIIU AI MIIIOI	Overs	Maidens	Runs	Wickets	Average	Best	5wI	10wM
Counties	Overs	Maidens	Kuns	Wickets	Average	Best Figures	5w1	10wM

505) Barrie LEADBEATER – Born 14 Aug 1943, Leeds

He was a RH batsman and RA medium-paced bowler

First-class debut – v Glam, Scarborough, 17-18 Aug 1966 (County Championship) Yorks career – 1964-1979

His highest first-class score (140*) came against Hants at Portsmouth on 12-15 June 1976 (County Championship) His best first-class bowling figures (1/1) came against Middx at Headingley on 26-28 May 1971 (County Championship) His highest List A score (90) came against Lancs at Bradford PA on 1 June 1974 (Benson & Hedges Cup) His best first-class bowling figures (3/47) came against Hants at Bradford PA on 10-11 July 1974 (Gillette Cup) His career-best score (149*) came in the Second Eleven Championship game against Middx at Bradford PA on 30 Aug to 1 Sept 1978

1st Class Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
147	241	29	5373	140*	25.34	1	27	82
List A Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
106	101	20	2325	90	28.70	-	12	26
2nd XI Championship	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
36	64	16	2671	149*	55.64	5	18	37
2nd XI Minor Counties Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
49	82	13	2425	129*	35.14	3	15	33
2nd XI Friendly Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
1	2	0	119	72	59.50	-	1	-

CAREER STATISTICS - BATTING & FIELDING

BOWLING

1st Class Matches	Overs	Maidens	Runs	Wickets	Average	Best Figures	5wI	10wM
	6	2	5	1	5.00	1/1	-	-
List A Matches	Overs	Maidens	Runs	Wickets	Average	Best	5wI	10wM
						Figures		

2nd XI Minor Counties	Overs	Maidens	Runs	Wickets	Average	Best Figures	5wI	10wM
Matches	4.5	0	40	0	-	-	-	-

He was capped by Yorks in 1969 and a joint benefit with G A Cope in 1980 raised £33,846 (or £146,093.99 in 2020). He was only the second player to score 1000 runs in a second eleven season. After his career, he became a first-class umpire from 1981 to 2008 and he also acted as TV umpire in Tests and ODIs. He also served as a training officer for aspiring umpires. He was distantly related to Edric Leadbeater (Yorks & Warwicks). He played club cricket for Batley (Central Yorks CL), Leeds (Yorkshire CL) and Bradford (Bradford CL).

In the Winter of 1969/70, he toured the West Indies with The Duke of Norfolk's side

506) **John A LUMB** – born Q2, 1945, Dewsbury, W Yorks. Died 25 Dec 2010, Sutton Coldfield, Warwicks, aged 74 or 75

Yorks career - 1964-1967

His highest score (147) came in the Minor Counties Championship game against Cumberland at Headingley on 8 & 9 June 1966.

2nd XI Championship	Inns	Not	Total	Highest	Average	100s	50s	Ct/St
(For Northants)		Outs	Runs	Score				
1	2	1	74	67*	74.00	-	1	-
2nd XI Minor Counties	Inns	Not	Total	Highest	Average	100s	50s	Ct/St
2nd XI Minor Counties Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St

CAREER STATISTICS - BATTING & FIELDING

He played club cricket in the Midlands for the Smethwick and Mitchell & Butler clubs. He was a brother of Richard Lumb, one of Geoff Boycott's more regular opening partners. The Joe Lumb U17 cricket competition started in 1961.

507) Christopher Middleton ("Chris") OLD – Born 22 Dec 1948, Middlesbrough.

He was a LH batsman and RA medium-fast bowler.

Test debut – v India, Eden Gardens, Calcutta on First-class debut – v Hants, Portsmouth, 3-5 Aug 1966 Yorks career – 1964-1977

His highest Test Match score (65) came against Pakistan at The Oval on 22-27 Aug 1974 (3rd Test)

His best Test Match bowling figures (7/50) came against Pakistan at Edgbaston on 1-5 June 1978 and included a spell of four wkts in five deliveries, dismissing Wasim Raja, Wasim Bari, Iqbal Qasim and Sikander Bakht (1st Test)

His highest First-class score (116) came against the Indian tourists at Bradford PA on 11-13 May 1974 (Tourist Match)

His best First-class bowling figures (7/20) came in the match against Glos at Acklam Park, Middlesbrough on 18-19 June 1969 (County Championship). He had match figs of 11/46.

His highest one-day score (82*) came in the List A match against Somerset at Glastonbury on 18 July 1976 (John Player CL)

His best One-Day bowling figures (5/19) came in the List A match against Scotland at Edgbaston on 19 May 1984 (Benson & Hedges Cup). These figures were produced for Warwicks.

Test Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
46	66	9	845	65	14.82	-	2	22
ODIs	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
32	25	7	338	51*	18.77	-	1	8
List A Matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
314	230	53	3492	82*	19.72	-	1	8
World Cup matches	Inns	Not Outs	Total Runs	Highest Score	Average	100s	50s	Ct/St
-	Inns 7			0	Average 15.16	100s -	50s	Ct/St
matches		Outs	Runs	Score	0	100s - 100s	50s 1 50s	
matches 9 1st Class	7	Outs 2 Not	Runs 91 Total	Score 51* Highest	15.16	-	1	1
matches 9 1st Class Matches	7 Inns	Outs 2 Not Outs	Runs 91 Total Runs	Score 51* Highest Score	15.16 Average	- 100s	1 50s	1 Ct/St

CAREER STATISTICS - BATTING & FIELDING

2nd XI Minor Counties	Inns	Not	Total	Highest	Average	100s	50s	Ct/St
Matches		Outs	Runs	Score	_			
25	37	5	681	78	21.28	-	4	12
2nd XI Minor Counties	Inns	Not	Total	Highest	Average	100s	50s	Ct/St
Trophy Matches		Outs	Runs	Score	0			
2	2	0	65	54	32.50	-	1	-

BOWLING

Test Matches	Overs	Maidens	Runs	Wickets	Average	Best Figures	5wI	10wM
	1476.2	311	4020	143	28.11	7/50	4	-
ODIs	Overs	Maidens	Runs	Wickets	Average	Best Figures	4wI	5wI
	292.3	42	999	45	22.20	4/8	2	-
List A Matches	Overs	Maidens	Runs	Wickets	Average	Best Figures	4wI	5wI
	2600.4	394	8720	418	20.86	5/19	15	3
World Cup Matches	Overs	Maidens	Runs	Wickets	Average	Best Figures	4wI	5wI
	90.3	18	243	16	15.18	4/8	1	-
1st Class Matches	Overs	Maidens	Runs	Wickets	Average	Best Figures	5wI	10wM
	9642	2385	25127	1070	23.48	7/20	39	2
2nd XI Championship	Overs	Maidens	Runs	Wickets	Average	Best Figures	5wI	10wM
	55	14	140	4	35.00	2/59	-	-
2nd XI Minor Counties Matches	Overs	Maidens	Runs	Wickets	Average	Best Figures	5wI	10wM
	340.3	84	918	51	18.00	6/18	2	-
2nd XI Minor Counties Trophy Matches	Overs	Maidens	Runs	Wickets	Average	Best Figures	4wI	5wI
	22	7	78	2	39.00	1/34	-	-

He was educated at Acklam Hall GS in Middlesbrough. He was capped by Yorks in 1969. He is the only bowler to take 300 wkts for Yorks in List A cricket. He was a Wisden Cricketer of the Year in 1979, along with David Gower, John Lever, Clive Radley and John Shepherd. His benefit season in 1979 raised £32,916 (or £167, 634.98 in 2020)

He captained Yorks in 1981 and 1982 but was relieved of the position by newly-installed Cricket Manager Ray Illingworth, and so Old move to Warwicks, who capped him in 1984. At the end of his career, he played a couple of games for Northumberland in the Minor Counties Trophy,

508) Peter Michael STRINGER - Born 23 Feb 1943, Gipton, Leeds

He was a LH batsman and RA fast-medium bowler

First-class debut – v The MCC at Lord's on 29 Apr to 2 May 1967 (Other First-Class match) Yorks career – 1964-1969

His highest First-Class score (22) came in the game against Sussex at Grace Rd on 26-29 June 1971 (County Championship) His best First-Class bowling figures (5/43) came against Yorks, playing for Leics, at Bramall Lane, Sheffield on 103 July 1970 (County Championship) His career-best highest score (63*) came in the second eleven championship game against Warwicks at Coalville CC, playing for Leics, on 14 & 15 July 1971 His career-best bowling figures (7/52) came in the Minor Counties Championship game against Northumberland at Jesmond CC on 19 & 20 July 1967

1st Class Matches (For Yorks & Leics) 56	Inns 63	Not Outs 21	Total Runs 333	Highest Score 22	Average 7.92	100s -	50s	Ct/St 28
List A Matches (For Yorks & Leics) 34	Inns 20	Not Outs 10	Total Runs 80	Highest Score 15	Average 8.00	100s -	50s	Ct/St 8
2nd XI Championship (For Leics) 18	Inns 25	Not Outs 8	Total Runs 594	Highest Score 63*	Average 34.94	100s	50s	Ct/St
2nd XI Minor Counties Matches 42	Inns 55	Not Outs	Total Runs 633	Highest Score 45	Average	100s	50s	Ct/St
2nd XI Friendly Matches (For Leics)	Inns	Not Outs	Total Runs 9	Highest Score 9	Average 9.00	100s	50s	Ct/St

CAREER STATISTICS - BATTING & FIELDING

BOWLING	ľ
---------	---

1st Class Matches	Overs	Maidens	Runs	Wickets	Average	Best	5wI	10wM
wratches	1026.3	260	2772	88	31.50	Figures 5/43	1	-
List A Matches	Overs	Maidens	Runs	Wickets	Average	Best Figures	4wI	5wI
	242.2	27	984	44	22.36	4/29	2	-
2nd XI Championship	Overs	Maidens	Runs	Wickets	Average	Best Figures	5wI	10wM
	430	100	1168	46	25.39	5/34	2	-
2nd XI Minor Counties	Overs	Maidens	Runs	Wickets	Average	Best Figures	5wI	10wM
Matches	1236.4	267	2370	159	14.90	7/52	8	2
2nd XI Friendly	Overs	Maidens	Runs	Wickets	Average	Best Figures	5wI	10wM
Matches	19	4	46	1	46.00	1/46	-	-

He played his club cricket for Colton (Leeds CL), from whence also hailed David Ryder, long-time Secretary of the County Club. Stringer later played for East Bierley, Bradford and Pudsey St Lawrence (all Bradford CL). He moved to Leics in 1970.

He later coached in South Africa at the Wanderers in Johannesburg and emigrated to South Africa but returned to England in 1980 and went back to his roots at Colton CC.

509) A J F TEMPLE – No biographical details are available for this player. He played just one game for the second eleven in the Minor Counties Championship against Cheshire at Scarborough on 19 & 20 Aug 1964. He did not bat and did not take any catches. His match bowling figures were 15-3-62-2 in a match reduced to one innings per side.
